Test of Strength

I can find 1000 more or less than a given number.

Start
at the bottom
and work your way
towards the top. When
you have finished, check your
answers (starting from the
bottom) and colour each question
you answered correctly. How
far can you go until you
answer incorrectly?

| club has a crowd capacity, which

I am thinking of a number. I add
1000, then add another 1000.
My answer is 91 776.
What was my starting number?

A football club has a crowd
capacity of 70 829 people. A rugby

is 1000 less than the football club.
What is the crowd capacity of the
rugby club?

I am taking part in a race. I have
already ran 9450 metres. I have
1000 metres left to run.
How long is the race?

I am thinking of a number.
I subtract 1000 and
my answer is 59 382.
What was my starting number?

Rhian has £67 748 in his bank
account. He then spends £1000.
How much money does he
have left remaining?

Alicia is collecting pennies for a
local charity. So far, she has
13 902 pennies. She is given

1000 more pennies by her father.
How many pennies does she

have in total?

What is 1000 less than 60 3827

What is 1000 more than 53 3947




Test of Strength Answers

Question Answer
q I am thinking of a number. I add 1000, then add another 1000. My answer is 91 776. What was my
’ starting number?
29776
. A football club has a crowd capacity of 70 829 people. A rugby club has a crowd capacity, which is 1000
: less than the football club. What is the crowd capacity of the rugby club?
6% 229
- I am taking part in a race. I have already ran 9450 metres. I have 1000 metres left to run. How long is
i the race?
10 450 metres
4, I am thinking of a number. I subtract 1000 and my answer is 59 382. What was my starting number?
60 332
- Rhian has £67 748 in his bank account. He then spends £1000. How much money does he have
’ left remaining?
£66 748
- Alicia is collecting pennies for a local charity. So far, she has 13 902 pennies. She is given 1000 more pennies
’ by her father. How many pennies does she have in total?
14 902
7. What is 1000 less than 60 382?
59382
8. What is 1000 more than 53 394?

$4 394




